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What’s coming

> Two more classes: Nov 29, Dec 6
» Test: Dec 13
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> Agent: brings about an event, animate, sense of purpose,
volition
John opened the door.

» Causer: brings about the event, unintended, can be inanimate
The wind opened the door.
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(5) a. Marusk-a rozlila mléko (Agent)
Mary-NOoM  spilled milk
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Cognition

Volume 88, Issue 1, May 2003, Pages 1-48

£y

ELSEVIER

Direct causation in the linguistic coding and
individuation of causal events

Phillip Wolff & =

Causal chain Linguistic expression

Sara caused the door to open.
Sara opened the door.

Sara caused the door to open.
*Sara opened the door.

Download : Download full-size image
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> Experiencer: a change of mental state
The election result frightened Mary

(7) a. Petrupletl tensvetr (moc) Sirokej
Petr knitted the sweater (too) wide

b. *Petr oteviel oCi Siroky
Petr opened his.eyes wide
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Recipient (give me the book)

Location (live in Tromsg)
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» Thematic roles are tightly associated to a particular predicate
(with some degree of flexibility)

(8) a. Uz prisel.
already arrived.3sg
‘He has already arrived.
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indirect object

> Indirect Object
> give me the book
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indirect object

> Indirect Object

> give me the book
> Oblique

» live in London
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Intransitive verbs

(15)

(16)

Q

Mary works. (unergative)
The soup cooled. (unaccusative)

Als die drei eingeschlafen waren.
when the three fallen-asleep were.3pl

‘When the three of them had fallen asleep. . .

Wenn er gut gekampft hat
when he well fought  has.3sg
‘When he has fought well’

7
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Passive

(17) a. John built the house

19/50



Passive

(17) a. John built the house
b. The house was built in 1977

19/50



Passive

(17) a. John built the house
b. The house was built in 1977

19/50



Causative — inchoative alternation
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Causative — inchoative alternation

(18) a. The sign turned.
b. Mary turned the sign.

(19) A hierarchy of thematic roles
agent > patient

(20) A hierarchy of grammatical functions
subject > object
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Expletive Subject

(212) a. Itisraining
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Expletive Subject

(212) a. Itisraining
b. #What is raining?

(22) Every sentence must have a subject, even if only formal

» formal subject = expletive subject

(23) There is a cat on the table.
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VP-internal ‘subject’
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VP-internal ‘subject’
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(25) When a head is expressed by an affix, syntax must provide a
host for that affix.
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Expletive insertion
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Subject movement

TP
NP T
three students T VP
| are  AdvP VP
K . ngw NP \‘\\ v/
\\\ “\\three students/"‘ Vv PP

i working  on the project
g
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(29) Astronauts don’t all speak the same language

VP

/\

Neg v/

/\

nt NP v/
/\ /\
Q NP Y NP
N

all  astronauts speak  the same language

37/50
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Economy of movement
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Deriving the mapping between thematic roles and GFs
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» Semantic roles (agent, patient, ...)

» Grammatical functions (subject object)
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